F1E REYOBELEENE

REATHOZHNIBDIKR
1. ZTHREE
D HEHOCHDREE (EA7 0 1)
e , HIR 7
e BT s T | ot
N bacy e 5 L 52N AR = =
(1) (2) e A izl & JEFH HITANRA o R EaPS 7t
18 13,358 3,335 14 5,367 861 478 107 1,532 160 8,519 25,212
19 12,979 3,110 22 5,164 746 470 101 1,467 167 8,137 24,226
20 12,571 3,191 14 5,103 663 479 99 1,455 182 7,995 23,757
21 12,159 2,346 14 5,126 698 429 92 1,474 177 8,010 22,515
22 11,837 2,226 13 4,995 615 452 90 1,542 169 7,876 21,939

N

LA T OZRFEUNAE B (MR P (E M R
2 ZEREIAE B R A, 7o, EERISHEE ETIT A KT 2a & A ERIGEENDIT, #IN T A OWTKE T ADOZ A THOITWDA, KOEEIZIE
EER, (KT B R 194EEE33t, 204 HE335t, 214 FET0, 224EFET)

Q —AN&EYDZHDREEE AOIZHT D)GEN

(BAT  kg)

FEL AR, #5930 HOEREARIRA A +HMNEAREHA B LT 2, LU

Co

(B :kg)

B RT T H BT | BRI I at
18 120.7 30.2 77.0 227.9
19 117.9 28.3 73.9 220.1
20 114.9 29.1 73.1 217.1
21 112.1 21.6 73.8 207.5
22 109.8 20.7 73.0 203.5
Q@ —ALEYDCHOHHEERMEREELHDRRELESR)
I S R A3 at
18 184.6 30.1 88.9 303.6
19 193.1 28.8 85.9 307.8
20 188.1 29.3 83.9 301.3
21 186.2 22.3 82.1 290.6
22 115.8 20.7 73.0 209.5

) SER224E BT AR DR D T B FALB S % AT B OFA KA A ORE R D HERLINFL LT,

A
7

@ HDEEMK (AL 2 205F)
— AT VY AINAT—ar
e o 5% L
AT Z 7 WS M- 6B HIAN A
(778 A e k) YRR
18 1,627 1,355 1,325 127
19 1,628 1,359 1,333 130
20 1,629 1,389 1,370 130
21 1,634 1,388 1,369 130
22 1,637 1,393 1,374 130
. CHNEBRE
I B (FID(ELD) M D DML (1) L AR [ R BE R IL PR FERE A | (BREEA) OfERAD LI, FfH
8 887 689 5023 SLPRAGAR B OB AL Sy T . T3 B N AT > CHE
: : I LS THIY AT 572,
19 898,800 8,167
20 920,752 8,415
21 1,064,741 9,815
22 1,048,536 9,724
. ARV A-RybRELO BYRIK R (HET:kg)
57 A IR
. AF—vay | HEBE . —[E]4 72y — [ 7=y
iep A ’?ﬁk]ﬁ%‘f 6.7 L ORI v g’j& o - T%T'EG&)
ZEH R Z0fth 7t HIANAEIR &
18 127 762) 218,482 172,787 88,202 479,561 679/ 107,023 150
19 130 780| 211,732 174,535 83,455 469,722 602| 100,803 129
20 130 780| 212,860 187,120 86,040| 486,020 623 101,532 130
21 130 780| 197,080 161,930 69,630| 428,640 550 92,436 119
22 130 780| 208,530 181,620 61,970| 452,120 580 90,521 116



4. ERPEREFARRLZERY (AT kg, CAFHD I K)

Bl M o e - . .

R P FE [ F R Mo o Loy | TARUR E AL A

18 28 496,676 221,060 616,370 1,334,106 14,262 17,768 31 71,837

19 26 534,787 204,660 595,200| 1,334,647 10,923 12,446 0 60,468

20 27 496,833 182,980 518,358 1,198,171 11,878 20,029 0 1,443

21 25 424,257 174,830 457,790 1,056,877 8,640 14,515 0 27,645

22 26 458,449 185,965 538,380 1,182,794 7,630 14,044 0 22,461

5. CHDIERK
D BICHOBH(ERA—R)
18 19 20 21 22

SO wron W8 meron| BT amon | B8 mmon) JEE s JEE
HIAE 14.16 472 15.65 487 13.17 420 15.09 354 12.80 285
ZOMASTAL L 0 TARE, 6.11 204 1.86 151 1.74 151 6.55 154 5.60 125
wHEHho 6.17 206 6.36 198 5.09 163 5.44 128 8.50 189
Ay RV 1.11 37 0.81 25 0.64 21 0.81 19 0.40 9
Bena 272590 13.54 452 11.16 347 11.08 354 9.20 216 9.20 205

L ENN LD 3.33 111 1.39 137 1.80 58 2.19 51 2.30 51
SEERDOL D 10.21 341 6.77 210 9.28 296 7.01 165 6.90 154
b= 7 TAF ) 15.77 526 17.09 531 17.29 552 18.23 428 19.00 423
Ty b —7, CD% 2.28 76 1.59 49 2.69 86 2.40 56 3.40 76
FEMS RS ET) 6.27 209 7.49 233 10.07 321 6.07 142 6.90 153
JK 5.50 183 6.74 210 5.12 163 6.23 146 5.00 111
Bt B (LT 92F9)) 2.43 81 2.57 80 3.02 96 2.25 53 2.00 44
AR DIV A N 0.61 20 0.44 14 0.48 15 0.67 16 0.80 18
2e X 0.21 7 0.40 12 0.12 4 0.43 10 0.60 13
LB (e IO 3.17 106 2.70 84 3.49 111 3.31 78 3.70 82
O 2.52 84 1.73 54 1.44 46 3.15 74 2.50 56
kel S 2.33 78 3.54 110 3.50 112 4.28 100 3.20 71
i ¥y 7.61 254 9.26 288 10.40 332 9.87 231 10.50 234
W R 0.73 24 0.18 6 0.26 8 0.25 6 0.30 7
vanky 0.73 24 1.64 51 0.57 18 0.74 17 0.40 9
(%ﬁg{g‘\:@m\ ) 8.75 292 5.79 180 6.83 218 5.03 118 5.20 116
&3 100.00 3,335 100.00 3,110 100.00 3,191 100.00 2,346 100.00 2,226
@ BOFHOBAEER—R)
18 19 20 21 22

SO wron W8 mron| BT amon | B8 mmon) JEE s JEE
ISy 1.78 238 1.22 158 1.02 128 1.22 148 2.76 327
O 37.20 4,969 40.00 5,192 32.92 4,138 52.15 6,341 54.62 6,465
bt 6.11 816 1.82 626 5.41 680 12.94 1,573 8.22 973
BR¥H 2.32 310 2.12 275 3.19 401 5.41 658 5.78 684
JEF 35.28 4,713 35.49 4,606 40.65 5,110 20.66 2,512 18.98 2,247
SR 9.17 1,225 10.80 1,402 10.31 1,296 2.96 360 4.33 512
TIAF v I¥E 7.54 1,007 5.06 657 5.43 683 4.28 520 4.81 569
=N 0.05 7 0.12 16 0.03 4 0.00 0 0.14 17
P 0.01 1 0.05 6 0.00 0 0.03 4 0.00 0
LB 0.26 35 0.14 18 0.26 33 0.30 37 0.32 38
HTAHE 0.06 8 0.00 0 0.10 13 0.00 0 0.00 0
+HbEE 0.04 5 0.00 0 0.00 0 0.05 6 0.00 0
FDith 0.18 24 0.18 23 0.68 85 0.00 0 0.04 5
HEF 100.00 13,358 100.00 12,979 100.00 12,571 100.00 12,159 100.00 11,837

6. —REEMHTEEY
AT -

frE AR e

18 33 2 67

19 35 1 65

20 30 2 67

21 29 7 74

22 31 5 68




7. ECHUEHBEAB M EERE

Pr— Sk B e AR() s A (D)
FE s s s : \
e it 24720 DK & it M7= D ¥ 448
18 171 3,303,000 19,316 10,390,091 60,761
19 142 2,729,000 19,218 8,213,519 57,842
20 199 3,812,000 19,156 11,151,981 56,040
21 126 2,220,000 17,619 7,670,804 60,879
22 162 2,837,000 17,512 9,082,832 56,067
8 FEREFRBOKR
FEV AN ERE (E5R) (180 e
uk S
i % z i o E
3 s
i | m sl = m | i . JBIE &
e N G Y N Ho s 2w
=~ Zj’% = VoL M R D o A4 | B s A AR < ;
Profile O o DR Sy B s 2 €
L5: [ D | #% ~
flL | —
18 1820 0 55 38 0 10 7 0 3 7 36 146 o 13 1 716 4 -
19 160 0 24/ 18 o 4 2 o 2 23 31 147 1 10| 3 558 1 8,485
20 246/ 86 47| 34| 0 5 8 0 0 164 119 343 0 1| 3/ 851 0 8,630
21 247/ 20/ 26 19/ 0 2/ 5 0 2 16 227 9 1 15 1 732 0  9,223.5
22 222/ 13) 49| 34 o 11 4 0 1 2 58 137 0 9 1| 170 10  6,976.2
* *
Sk OV RR224F B BB AL Tl e <8R (7= ) THEE,
9. CHEDEFHNELE
- s | AFE | am o gsoa | PR KT T4TRED
= A ) (fe) (fen) W ARTon BN 2
18 31,521 1,457 46,908 8,260 - - - -
19 32,672 1,533 42,448 7,950 3,177 102 1,890 1,992
20 27,415 953 33,797 5,588 3,719 587 1,339 1,926
21 33,127 2,089 35,339 5,648 5,304 725 2,057 2,782
22 33,431 2,041 34,988 5,661 9,634 803 2,431 3,234




10. W 5OME
(1) AZF T PRI AL 5 DAL

FITTE M AR RETL367 7 H18
HiAT NAFN594E8 H 4 T~ W F624E2 H 5%
Bt A 25,598  ?
LT 7 14,325 m?
N7 B 172,831 3
HENT 5 BAL&YPURAYTF A
T8 K AL PR e SR A B
SRR S5 [E1HE PR 75 -+ DL EREE + b A
JLERRE S 100m’/ H
MEKEREE  pH  5.8~8.6

BOD 20mg,1LLF
COD 60mg,/1LAF
SS  30mg/1LL T

FOERR21F3 A RITTH A IR

(2) Witk —>tr 2 —RfEE

FAEH F BN LRI & (B BRI o 7 —) OB

e e S

B TR AR 2254 % H147

Bl
fa.£ i
LI IR
&
IGELEM
BEENE )
FIEE

32,2000t
3,205.6nf
1,074.44nd (PedBisE Te)
R, B 7Y — B AR T 2R R
AR E T AL ERRLE
93t,/24h (46.5t,24h X 2)
SR 24F FE ~ SRR L 44F FE
#9525 M GE&ERR T ITH B T4 5 1)

[EAVE 7SI

YN

B R

TR R i
PRIEAT At BN A
BREE A% fif
HEA AR LA
PR HIL R 6
HEAKALBRE
SREH A

SRBENRE

Eyh&7L—rF
BElRIFEEh = A AR
FERIVA LR
BERRAT + KNS
Hith A B X 2B
LR - b A
TA MR E AL
AL 70— KR 2T I
KRE—EUHE
AW
#91,300°C

(AEB b T A )

i

[E] 3 e

FCA

0.01g/m’NLL F

0.15g/m’NLL F

Tt SR A4

KfE 3L F

K 17.500F

Bk

50ppmIL

430ppmLL T

R

100ppm/m3NL)LT

250ppm/m3NL)LT

HFAFXL M

0.05ng-TEQ/m’NLLF

0.1ng-TEQ/m’NELF Hiaksroon'4
NI BNg-TEQ/m3NLL F&d%




FifEd ST T41677-4
AT FRLI8H6H23H

T ERR214E2 A 2TH
ekt 1,995, 000FH

O wsyss

TR T bR 51,256

LD N IR AE 13,0000t

HD TR & 101,00007

DN TH R T &. U RAyF I

(3) B T — AR BEFEM AR AL 53 55 < 7Y — 2 S — TAHO O

JENIRGRY) ARVESNL 22 TRIKILERY) (LK) R OV UIRTBTRBEAIIR

HNT S5
@ AR
TSR
Wi gEis v PRSI E &
AmiFE  290.73nd

BiRE L, PHEL R OREEL

Bl . BHER (404 7THE) | KEELIEERH15k w

A RHKAAERE

Wil gkif= 7 V) — Mgy —EEEE Y 2D T —BiE S

AR 1, 155. 54nt

A PG A RS, 600mT, BEULE. mEIR HKLBREI . DK
SRBLS A T v w DR SN + HEARAEILBER i + B UL - 1Y B il di +
AL (FEMESR - % L— PUE)  RRAM -+ DR R

WEREES)  60miH
SLPRTTE BRI - BD A+ AL

AETEBRBEAR R B AR K B A
pH 5.8~8.6

BOD 60mg/LLL T

CoD 90mg/LLA T

SS 60mg/LLL T

T—N 60mg/LLL T

DXN s 10pg-TEQ/LLAF

Ca% 100 mg/LLA T
KIGEER%L 3,000 {H/cm3 BAF
BB AT X A YKL T

FRE R bRk AT RE A A
oH 5.8~8.6

BOD  10mg/LLAT

COD  10mg/LELF

Ss 10mg/LLLF

T—N 10mg/LLLF
DXNs 10p g-TEQ/LELF

Ca% 100 mg/LLA T
KIGEEREL 3,000 {A/cm3 BAF
BB AT X A YKL T



(D) B A0S SaHe K B R R
O #SHfRELY S (V- —TH)

H224F &

. H R T B KL 5y
- ALER K

WoE & £ ML/ A B 4/7 | 4/27| 5/7 | 5/25|6/25 | 7/29 | 8/24 9/7 9/24 |10/26| 11/5 |11/26] 12/7 | 12/24 | 1/25 | 2/25  3/4 | 3/22

pH - 8.0 — |77 81 10 7.7 — 78 | 7.6 — 7.5 - 76 | 18| 77T — |15
BOD (mg/D| - 0.5 — 0.6 | 0.8 |<05 <05 — <0.5 | <0.5 — 0.9 - 4.1 | <05 98 | — | 0.6
COD (mg/HD] - |21.0 — |19.0 26.0 21.0 | 18.0 — 18.0 | 1.9 — 8.5 - 15.0 | 13.0 | 22.0  — |18.0
SS (mg/D)| - <1 - a | <a o« <1 — a < — < - <1 <1 <1 — | <1
KW E B 4% (=2 /mD[ 0.0 0.0 — — 100 — 0.0 — — 4.0 — — 0.0 0.0 — 100 — —
n-~E AR E A R a _ - -~ - _ a _ - - - - a - _ - _ -
T#)(mg/1)
=~ Al PG A R @R a _ _ _ _ _ a -~ _ -~ -~ -~ a _ -~ _ -~ _
T#)(mg/1)
7 = J — A M (mg/l)| <0.5 — — - — — | <05 — - — — — | <05 — — — — —
k| (mg/D| <0.02 | — — - — — | <0.02 — - — — — | <0.02 — — — — —
il £ (mg/D)] 0.13 — — - — — | 0.02 — - — — — | 0.01 — — — — —
woofir M 8 (mg/D] <0.02 | — — - — — | <0.02 — - — — — | 0.04 — — — — —
WY~ > A (mg/D] 0.11 — — - — — | 0.60 — - — — — | <0.01 — — — — —
D 7 v (mg/D| <0.05 | — — - — — | <0.05 — - - — — | <0.05 — — — — —
Y vk A& W (mg/D| <0.1 — - - - - <€0.1 — - - — - <€0.1 — — — — —
B K X 0w A (mg/D]<0.005 — — - — — | <0.005 — - - — — | <0.005| — — — — —
£ (mg/D)] <0.005 | — — - — — | <0.005 — - - — — | <0.005| — — — — —
ANofi oz v A (mg/D| <002 | — — - — — | <0.02 — - - — — | <0.02 — — — — —
fit F# (mg/D)] <0.005 | — — - — — | <0.005 — - - — — | <0.005| — — — — —
% 7K i (mg/D)]<0.0005| — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
p C B(mg/1)[<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
LL,I-FY) 7 oo x4y (mg/1)[<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
Fh7/munxF LY (ng/D|<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
FY s mmxF Ly (mg/|<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
uooHE Ak B % (mg/D[<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
~N v ¥ v (mg/D]<0.0005] — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
R 1 v (mg/D| 0.004 | — — - — — | <0.001 — - - — — | <0.001| — — — — —
2 A4 F v M (pg-TEQ/)|  — - 00 | — — — - 10.000036 | — — 10.000075 | — — — — - 00 | —
7 ov F v oK R (mg/D| AR — - - - — | Rkt - - - - — | FR ) - - - - -
2y mou A K v (mg/)]<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
1,2- Y 7 muxZ 2 (ng/)f<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
LI-YZ7uaxF L (mg/)|<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
Y A-1,2-¥"/nnxFL Y (mg/)]<0.0005| — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
LL,2-FY) 7o x4y (mg/1)[<0.0005 — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
1,3-v " 7un7 0~y (ng/1)[<0.0005] — — - — — 1<0.0005 — - - — — [<0.0005| — — — — —
F v 5 A (mg/D]<0.006 — — - — — | <0.006 — - - — — | <0.006 | — — — — —
v~ ¥ v (mg/D]<0.003 | — — - — — | <0.003 — - - — — | <0.003| — — — — —
F F N> H v T (mg/)]<0.0006] — — - — — |<0.0006 — - - — — [<0.0006] — — — — —
7 = N (mg/D| <0.02 | — — - — — | <0.02 — - — — — | <0.02 — — — — —
7 v F# (mg/D| <0.08 | — — - — — | 012 — - — — — | <0.08 — — — — —
4 Y v (mg/D)] 0.12 — — - — — | 0.07 — - — — — | <0.05 — — — — —
e % F# (mg/D] — 140 | — |16.0 9.9 9.8 | 120 — 15.0 | 23.0 — 2.6 — 1.3 1.2 013 — | 1.9
IS iR ( C )| 140 156 | — |20.0 | 24.6 26.4| 26.0 — 26.0 | 23.0 — 17.7 | 15.5 144 | 86 | 134 — 128
% o) El - - - - - - — — — - - — — — - — - —
R fmH % (mS/m )| — | 1400 — — 11300 — | 1200 - — | 1100 - - — 1200 | — | 150 | — —
3 ) F# (mg/D] 1.1 — — - — — 1.1 — - — — — 1.3 — — — — —
7 v =T M E#E (mg/l)] <0.1 — — - — — 0.5 — - — — — 0.1 — — — — —
moom M oM = #| 009 | — — - — — | 0.09 — - — — — | <0.02 — — — — —
o M E FE (mg/)] 12 — — - — — 11 — - — — — 0.3 — — — — —
AR AN I e e e e e - - | - - - | - e
W% A4 A v )| — | - - | - - | - - - | - - - | - - = =] =] -
o oA A v (mg/D| — — - — - — — — — - - — — — - — - —




R TR AL o

5 ; 1R K

WoE & % ML = A| 4/6 | 5/7 | 6/4 | 7/6 | 8/6 | 9/7T | 9/24 10/5 | 11/5 | 12/7| 1/4 |2/15| 3/4 | 3/24

pH 73 | 7.1 65| 7.3 74 7.0 - 7.1 7.7 | 1.8 7.8 79 | 79 —
BOD (mg/N| <0.5 | <0.5 <0.5| 0.6 | <0.5 <0.5 | — 0.6 <0.5 | <05 <0.5 | <0.5| <05 -
COD (mg/D] — — — — — — — — — — — — — —
SS (mg/D] — — — — — — — — — — — — — —
K W B (=2 /m) — - | =] = - | = - - - - - - - -
n-~F YU E A R me/D|  — — | =] - - | = - - - - - - - -
[%{ﬁ‘\‘/ﬁ%ﬁ?%'rﬁaﬁu - | =] =] =] = _ — — | = — — — —
7o = A ) — - = - = = = - - | - - - | - -
Eil (mg/D| — - | =] = - | = - - - - - - - -
i i (mg/D| — i e - - - - - - - - - -
w8 g/l — - | =] - - - - - - - - - - -
Rt~ v v g/ — - | =] - - | = - - - - - - - -
v 7 v (mg/D|  — - =] - — | = | AR - - - - - — | Rk
Y b A& W e/ — - | =] - - | = - - - - - - - -
#F v A (mg/) — - | = | = — | — [<0.0005 «— - | - - - — /<0.0005
i (mg/D| — — | — | = = = |<o0.001 - - | - — - — | <0.001
Aoz om n (mg/)| — - | = - = — <00 - - | - - - — ] <0.005
fit ES (mg/D| — — | — | = = = |<o0.001 - - | - — - — | <0.001
e K IS (mg/D|  — - | = | = — | — [<0.0005 — - | - - - — /<0.0005
p C B(mg/D| — — | =] - I N i - - - - - — | Ak
LLl-F) 7o xdy (mg/H| — — | =] = = | — [<00005 — - | - — — — ]<0.0005
Fh3smoxFL Y mg/)| — — | — | = | = = [<0.0005 — - | - — - —  ]<0.0005
FY/s7mmrxF LY mg/ — - =] - - — <0.0005 ~ — - - - - — <0.0005
modE Mk ' #E (mg/l| — — | — | = = = |[<0.0002 - - | - — - - ]<0.0002
N % (g — — | =] = = | — [<00005 — - | - — — — ]<0.0005
+ v N (mg/D| — — | = =] = | = |<o0.001 - - | - - - — | <0.001
L A4 XV M (pg-TEQ/| — - | =] = - | = - - - - - - - -
7oV F v oK B (mg/)| — - | =] - — | = | AR - - - - - — | Al
Y7 mwr A X v (mg/)l — - | — - - — ]<€0.0005 - — - — - — <0.0005
1,2-Ys7mnxiy mg/) — — | = | = = | — [<0.0004 — - | - - - — ]<0.0004
Li-Y7rarxFLrimg/l) — - — - - — 1<0.0005 — — — — — —  <0.0005
vA-1,2-v" yuoxFLy(mg/l)| — — | = | = = | = [<0.0005 — - | - - - — <0.0005
L1,2- Y 7owe x4y (mg/)] — - | — - - — ]<0.0005 - — - — - —  <0.0005
1,3-v /o7 o~y (mg/)| — — | = | = = | = [<0.0005 — - | - - - — <0.0005
F v 7 A (mg/)] — - | — - - — <0.0006 - — - — - — <0.0006
o= Y (g — — | — | = = = [<0.0003 — - | - — - — ]<0.0003
F A N T (mg/)] — - | — - - — <0.0006 - — - — - — <0.0006
7 =4 N (mg/D| — — — — — — — — — — — — — —
7 > ES (mg/D| — - | — - - — | <0.08 - — - - — - <0.08
S ) v (mg/D] — — — - - - - - - - - - - -
kS %= ES (mg/D| — - | =] = - | = - - - - - - - -
K i ( C )| 135 | 14 | 14.7| 16.5 | 15.9  16.6 | 16.0 16.3 | 159 102 | 155 | 13.8 | 13.6 | 14.0
% B El - - | =] - - - - - - - - - - -
A s 8 R ((mS/m )| 21.0 |20.0 21.0 |20.0 20.0 | 19.0 - 19.0 | 17.0 |17.0 | 17.0 | 18.0 | 16.0 -
R I M ) I e R e e I I - - | - - - - -
o o4 A v g/ — - | =] - - | = - - - - - - - -
F 9 # ( mg1 )| — - = = = = ]<0.02 - — — — — <0.02
R R A O R R (me/) | — — | -] - =] - 1.5 - - - - - 1.2




@ AZFHPIAIL T 55

H224E 5

HoH A BT TP 55
- JLER /K

WoE & £ ML~ A Bl 4/22 | 5/20 | 6/18 | 7/15 | 8/17 | 9/13 | 10/14 | 10/15 | 11/12 | 12/6 | 1/13 = 2/14 | 3/10

pH 8.5 8.5 8.2 8.1 8.3 8.4 8.3 - 8.3 8.3 8.3 8.2 8.1
BOD (mg/D| 0.5 1 0.7 1 0.5 1.1 0.6 - 0.7 0.9 0.8 0.5 0.6
COD (mg/D| 16 15 15 12 14 13.0 10 - 11 13 12 12 9.7
SS (mg/D] 1 <1 2 <1 1 1 <1 - 1 4 1 2 <1
Nl B (a2 /m) — — - - — — 2500 - — — — — —
n—~E AN E A R EE) _ _ _ — - - <0.5 - — — — — —
) (mg/1)
n-~F A B A (B _ _ _ — — — <0.5 - — — — — —
) (mg/1)
7 = J — A (mg/)| - — - - - — <0.05 - — — — — —
il (mg/D| — — — — — — <0.01 - — — — — —
Gin & (mg/D| — — — — — — <0.02 - — — — — —
w8 (mg/)| - — — - - — 0.03 - — — — — —
WY~ v (mg/)] — — — - - — <0.01 - — — — — —
v 7 bg (mg/D| — — — — — — <0.1 - — — — — —
HHEY vt & W g/ — — — - - — | <0.005 - — — — — —
HF v A (mg/)] — — - - — — 1 <0.001 - — — — — —
i) (mg/D| — — - - - — 1 <0.005 - — — — — —
Ao 7 om oA (meg/)| — — — - - — <0.01 - — — — — —
fit ES (mg/D| — — — - - — 1 <0.001 - — — — — —
i K i (mg/D| — — - - — —  <0.0005 - — — — — —
p C B(mg/D| — — - - — —  <0.0005 - — — — — —
LLI=-hY7muo x4y mg/H — — - - — —  <0.0005 - — — — — —
Fh77mETF VY (mg/)] — — - - — —  <0.0005 - — — — — —
FY 7T VY mg/ — — - - - - <0.002 - — — — — —
Mo e Rk #E (mg/D] — — — - - —  <0.0002] - — — — — —
~ v P (g — — - - — — 1 <0.001 - — — — — —
+ v v (mg/D| — — - - — — 1 <0.002 - — — — — —
2 AAx T M (pgTEQ/D|  — — — — - - — 0.0014 — — — — —
7 o F L K R (mg/D| — — — — — — 1 <0.0005 - — — — — —
Yz umna XL v (g — — — — — — 1 <0.002 - — — — — —
1,2-Y7umnn=xzymg — — — — — —  <0.0004 - — — — — —
LI-¥ZunpxFLr(mg/) — — — — — — 1 <0.002 - — — — — —
YA-1,2-v ' JunxFL v (mg/l)| — — - - - — | <0.004 - — — — — —
LI2-hYsme x4y mg/ — — - - — —  <0.0005 - — — — — —
1,3-v' smrr7° e~y mg/D| — — - - — —  <0.0002] - — — — — —
F v 7 A (mg/)] — — — — — —  <0.0006] - — — — — —
o= Yy (mg| - — — — — —  <0.0003 - — — — — —
F A N H T (mg/)] — — — — — — 1 <0.002 - — — — — —
7 =t I (mg/D]  — — - - - - <0.01 - — — — — —
7 v ES (mg/M|  — - - - - - 0.1 - - - - - -
S U v (mg/D|  — - - - - - 0.044 - - - - - -
£ % # (mg/Df 19 18 18 15 17 15 13 - 15 15 13 14 13
7K i ( C )| 18.9 20.2 21.4 21 22.3 22.3 20.4 - 15.7 15.4 11.9 11.6 13
% i - - - - - - - - - - - - -
A S E L (mS/m )| — - - - - — - - - - - -
1% 9 ES (mg/D| — — — - — — 0.74 - - - - - -
7T vE =T M E R Mg/ — — - - - - <0.05 - - - - - -
oMo om o o= R - - - - - - | <0.02 - - - - - -
WO oM E E (e — - - - - - 12 - - - - - -
~ 7 * v v A (mg/)] — — - - - - — - - - - - -
b O O (W Y=7)] — - - - - - - - - - -
it W 4 4+ v (mg/D| — — - - - - - - - - - - -




®H OB

AL F T PIALALS ) S5

B 1K
WoE & £ fE L 7= Al 4/22 0 5/20 | 6/18 | 7/15 | 8/17 | 9/13 | 10/14 | 10/15 | 11/12 | 12/6 | 1/13 = 2/14 | 3/10
pH — — — - — — — — — — — — —
BOD (mg/D| <0.5 0.6 1.1 0.6 0.5 0.8 0.6 — 0.5 0.9 0.6 0.5 | <05
COD (mg/D| — — — — — — — — — — — — —
SS (mg/D| — — — — — — - — — — — — —
KB @ B (2 /m) — — - - - - - — - - - - -
¥ E A Rmg/)|  — — - - - - - - - - - - -
faAAr mEiEtEs (mg/D|  — — — — — — — — — — — — —
7 = /J — ) B (mg/)|] -— — — — — — - — — — — — —
kil (mg/M| — — - - - - - — - - - - -
Cin #n (mg/D| — — - - - - - - - - — - -
w8 (mg/D] — — - - - - - - - - - - -
WM~ v v g/ — — - - - - - - - - - - -
v 7 g (mg/D| — — - - - — <0.1 — — — — - -
H#HY bt & W g/ — - - - - - - — - - - - -
HF Y A (mg/)| — — - - - — 1 <0.001 — — — — — -
iy (mg/V| — — — — — — 1 <0.005 — - - - - -
N o 7 o =m o A (mg/H| — — - - - — <0.01 — — — — — -
it ES (mg/D| — - - - - - <0.001| — - - - - -
i VIS i} (mg/D| — — - - - —  <0.0005 ~— — — — — —
P C B(mg/D| — - - - - —  <0.0005 — - - - - -
LLlI-F)7uoxyy(mg/)] — - - - - — 1<0.0005 — - - - - -
Fh7/7mBF VY (mg/)] — — - - - —  <0.0005 — — — — — —
MY s mwxF vy (mg/) — - - - - - <0002 — - - - - -
moHE e ®OFE (mg/D| — - - - - - <0.0002 — - - - - -
~ P (mg/)] — — - - - — 1 <0.001 — — — — — —
+ v v (mg/D| — - - - - - <0.002| — - - - - -
FAAF Y8 (g TEQD|  — - - - - - - 0.038 - - - - -
7o X v oK | (me/) — - - - - —  <0.0005 — - - - - -
vz mna 2% v (g - — - - - — 1 <0.002 — — — — — —
L2-vzuaua=xzymg/H — — — — — —  <0.0004 — — — — — —
Li-vZurrxFLrmg/l)| — - - — — — | <0.002 — — — — — —
vA-1,2-v' yenxFL v (mg/)| — — - - - - 1 <0.004 — — — — — —
L12-F)7uoxyy (mg/l)] — - - - - — 1<0.0005 — - - - - -
1,3-v' smrr7° e~y mg/D| — — - - - —  <0.0002 — — — — — —
F v 7 A (mg/)] - — - - - —  <0.0006 ~— — — — — —
o= Yy (mg/)| — — — — — —  <0.0003 — - - - - -
F AR T (g — - - - - - <0.002| — - - - - -
7 =4 FA (mg/D| — — - - - - — - - - - - -
z > ES (mg/D| 1.8 - 2.1 - 1.7 - 2.3 - - 1.3 - 1.8 -
S ) v (mg/D]  — — — — — — - — — — — — —
4 %= F# (mg/D| — — — — — — — — — — — — —
K 1. ( c b - - - - - 18.6 - - - - - -
% 67 Bl - — - - - - - - - - — - -
E R B E R ((mS/m )| 24.0 | 240 | 240 | 23.0 | 24.0 24.0 24.0 - 23.0 22.0 23.0 24.0 24.0
W o#F A4 A4 v (mg/M] - - - - - - - - - - - - -
it W 4 4+ v (mg/D] — — - - - - - - - — - - -
E o # ( mg/l )| - - - - - - 0.19 — - — — — —
R 2 R R O RE ML 2 (mg/)| — — — — — — <0.02 — - — — — —




© HITEIKRE

H224F

AR S
I LA A
e I TR " A | en T
HRAREE (mS/m) H22.10.13
H22.5.28 10 7 v ¥ b Kk R (mg/Df  <0.0005
H22.6.9 12 # 7K R (mg/D|  <0.0005
H22.7.14 6.1 # F I v A (mg/D]  <0.001
H22.8.18 12 £ (mg/D|  <0.005
H22.9.8 13 KoM 7 o om A& (mg/) <0.01
H22.10.13 12 fit F (mg/D|  <0.001
H22.11.10 13 D 7 v (mg/1) <0.1
H22.12.10 13 p C B(mg/)|  <0.0005
H23.1.12 13 FY 7 mmr xS Ly (mg/)| <0.002
H23.2.9 13 77 7wv8m ISV v g/ <0.0005
H23.3.9 12 Y 7 v oum X & v (mg/D| <0.002
oo b R # (mg/D|  <0.0002
1,2- Y 7 mw=x & v (mg/l)] <0.0004
LI-YZuvewvxJF L »mg/) <0.002
vA-1,2-v /rexF Ly (mg/D|  <0.004
LI,I-FY 2 m w4y (mg/D| <0.0005
1.12- F YV 7 m v = 4 v <0.0005
1,3-v ' 7uom7 8~y (mg/)| <0.0002
5 v 7 U (mg/D]  <0.0006
¥ o= Y v (mg/H| <0.0003
FF N v H T (mg/D| <0.002
~ ¥ v (mg/)]  <0.001
+ 152 Vg (mg/D|  <0.002
1F 9 F (mg/1) 0.03
7 >4 F (mg/1) <0.1
O om M E R RO 0.98
s B M = FE (mg/)
EE £ U i £ 12
HAFX HH (pg-TEQ/) 0.017

H22.10.15
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(8) MMy ) —2 o B —DHEH AT D4 A A3 3 AT AE T H224F %
YNNG ORI TT 2T FFPCB L Total
w WEAR WERT | g v RE |RomR WEEC

(ng-TEQ/Nm?) | TEQ/Nm®) | TEQ/Nm®) | (ng-TEQ/Nm®
8 10H25H 1,25 AL 1.3 11 — 12.3 (BR=z~ L= R
9 1119H 125G JEgE 4.5 17 — 21.5 (BRBREEHIN 2 —
10 9H11H 125G JEgE 4.8 22 — 27 (BRBREE IR 2 —
11 8 24H 125G JEgE 7.3 25 0.78 33 (BRBREHIF 52—
12 616 H 125G JEgE 3.0 10 0.28 14 (BRBREE IR 2 —
13 8HTH 125G JEgE 1.47 1.12 0.05548392 2.7 (BRBREEHIN 52—
14 9A1LH 125G JEgE 1.9 4.1 0.24 62 (BRBREHIN 52—
15 1A14RH ARJEZE 0 0.0016 0.00032 0.0019 - =F IR 2 —
15 1A 140 BARJEZE 0.0000006 0.0012 0.0000057 0.0012 - =F IR 2 —
16 7H2H ARJEZE 0.0005 0.00019 0.0011 0.0018 Bz~ L= R
16 7H2H BARJEZE 0.0002 0.0034 0.00077 0.0044 (BR=z~ L= R
17 6H27H AR LS 0.00143363 0.002039 0.00019087 0.0037 RARIT v
17 6H28H BRJEZE 0.0031612 0.00621 0.00068267 0.01 BRARIT v
18 6H27H ARJEZE 0.0000007 0.00005 0.0000048 0.000056 - =F IR 2 —
18 61281 BARJEZE 0 0 0.0000028 0.0000028 (=T HEREEHIFE ¥ —
19 6H28H ARJEZE 0.004858 0.00123988 | 0.000911129 0.0070 BREEIR ST ZERERE (K)
19 6H28H BRJEZE 0.0070386 0.00264386 | 0.000452967 0.010 BREEIR ST ZERERE (IK)
20 6H23H ARJEZE 0.00004 0 0.00050232 0.00054 BREEIR ST ZERERE(R)
20 6230 BARJESE 0.026490 0.0350778 | 0.002405874 (El@gz(é?éﬂaﬁ BREEIR ST ZERERE (K)

M b E e R i)
0.00000049
20 10 11H BARJEZE 0 0 0.00000049 | (FFfIE, Mot i | BRETHS & WP SEAEAE (KR)
fELLT)

21 6H17H AFRJEZE 0 0.00041 0.000067 0.00047 fR=F I BRI 2 —
21 6H17H BARJEZE 0 0.00026 0.0000035 0.00026 fR=F I B 2 —
21 929K AFRJEZE 0 0.00022 0.0000013 0.00022 fR=F I B 2 —
21 9290 BARJEZE 0 0.00019 0.00000088 0.00019 fR=F I BT —
21 11H6H AT LS 0.00024 0.00035 0.000083 0.00067 (R =F I B e 2 —
21 116H BARJEZE 0 0.00017 0.00000036 0.00017 fR=F I B e 2 —
21 k22434 1A AT fEZE 0.000023 0.00059 0.0000015 0.00061 (R =F I B e 2 —
21 | FRk224E3A 1A BARJEZE 0.0043 0.0025 0.00021 0.007 fR=F I B e 2 —
22 | k2246 A 1H AFRJEZE 0 0.000018 | 0.00000038 0.000018 fR=F I BRI 2 —
22 " BARJESE 0.000033 0.000074 | 0.00000034 0.00011 (R =F I B e 2 —
22 | Pk224E9 A 30 A AFRSEZE 0 0 0.00000052 0.00000052 | =F B EREEH L2 —
22 " BARJESE 0.00041 0.00037 0.0000063 0.00085 (R =F I Bt 2 —
22 | WRR224E12H 150 AT fEZE 0 0 0.00000047 0.00000047  |=F B EREEHf L2 —
22 " BARJEZE 0.00000087 0 0.00000091 0.0000018 (=T Wit 2 —
22 | Rk234E3H 15H ARJEZE 0.000017 0.000023 | 0.00000039 0.000041 fR=F I B 2 —
22 " BRJHESE 0.000019 0 0.00000041 0.000019  |R==F BB & —
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